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QUESTION 1

You are creating a standard report for a client to display LPN Numbers (for multi-SKU LPNs) and their associated items.
The two data fields you have in your report are LPN Number and Item Code. Identify what controls need to be set to
create a sub-total for the number of items for each LPN.

A. Set the Summary Function for item to "Count" and check the Summarize By box for LPN.

B. Set the Summary Function for item to "Total" and check the Group By box for LPN.

C. Set the Summary Function for LPN to "Count" and check the Summarize By box for Item.

D. Set the Summary Function for LPN to "Total" and check the Group By box for item.

Correct Answer: A

QUESTION 2

Your company has two facilities, one in California, and the other in New Jersey. The California facility needs to
exclusively check the quality of each item on receiving whereas the New Jersey one need to exclusively perform Value-
Added Service (VAS) on each unit during receiving and shipping. Identify the Location Types that are required to be
defined in the Oracle WMS Cloud to receive the items at the California Facility.

A. Reserve and VAS

B. Active and VAS

C. Reserve and QC

D. Active and Reserve

Correct Answer: D

QUESTION 3

Which five combinations of lot and expiry date are valid scenarios in WMS Cloud? (Choose five.)
A. Two IB LPNs of the same item have different lots and the same expiry dates.

B. Two IB LPNs of the same item have the same lot and the same expiry date.

C. The IB LPNs have an item with the same lot and different expiry dates.

D. An item is lot-tracked but not expiry-date-tracked.

E. An item is expiry-date-tracked but not lot-tracked.

F. Two IB LPNs of the same item have different lots and different expiry dates.

Correct Answer: BCDEF
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QUESTION 4

Which three configurations are required to sort the SKU A and B while receiving? (Choose three.)
A. An IB Shipment Type should be created to receive Purchase Order with sort SKUs.

B. Use Custom Field in Vendor Ul to map the item that needs to be sorted.

C. Break Rule with Criteria needs to be set for the Sorting Rule.

D. Receive Station Location for Sorting should be created and mapped with the Sorting Rule.

E. Putaway Type should be configured for the SKU.

F. The Locations Size type should be defined for each Receive Station Location.

Correct Answer:. ABE

QUESTION 5

In which two ways can you execute the detail cycle count of LPN Detail by sku scan? (Choose two.)

A. using "Cycle Cnt" screen with screen parameter content-count set to "sku-scan”

B. using "Cycle count for LPN deffered/immediate updates" with screen parameter sku scan mode set to "By Sku Scan"
C. using "Resv Nbr Cnt" screen and with screen parameter content-count set to "sku-scan”

D. using "Cycle Cnt" screen with screen parameter content-count set to "Null”

Correct Answer: BD
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